Chapter 24: An Age of Modernity, Anxiety, and Imperialism (1894-1914)
Lesson 2: Politics: New Directions and New Uncertainties
Opening the Lesson:

Developing the Lesson:
I. Politics: New Directions and New Uncertainties.


A. The Movement for Women’s Rights.


1. The modern movement began in the 1830s.



2. Sought to change property ownership laws.




a. In G.B., women get the right to own property in 1870.




b. In Germany, 1900.




c. In France, 1907.



3. Sought to change family and marriage laws.




a. In G.B., women could legally divorce in 1857.




b. In France, limited divorce was legal in 1884.




c. In Spain and Italy, legal divorces were not granted.



4. Sought new job opportunities.




a. Many middle and upper-middle class women gained access to a 




     higher education.



b. Others sought jobs in places were men had dominated, such as, 




     teaching and medicine (nursing).
· Amalie Sieveking (1794-1859).

· Florence Nightingale (1820-1910).

· Clara Barton (1821-1912).

 

5. Sought political rights.




a. The right to vote was at the top of the list, but the method in 




     which women would achieve this right was disputed.




b. Millicent Fawcett (1847-1929)—organized a moderate group of 




     women to demonstrate for the right to vote.




c. Emmeline Pankhurst (1858-1928)—favored a more radical 




     approach.  She founded the Women’s Social and Political 



     Union in 1903, which enrolled mostly middle and upper-class 



     women. They used unusual publicity stunts to call attention to 



     their cause and were labeled “suffragettes” by male politicians.


6. Many women supported peace movements.




a. Bertha von Sutter (1843-1914).





1. Founded the Austrian Peace Society.





2. Wrote Lay Down Your Arms—became a best-seller and 





     won her the Nobel Peace prize.

 


b. Lower class women also marched in peace demonstrations.

B. Jews Within the European Nation-State.



1. The revival of racism and extreme nationalism at the end of the 19th 


     century was aimed at the Jews.


2. At the beginning of the 19th century, Jews were granted legal equality in 


     many countries because of the Enlightenment and the French 



     Revolution..



3. After the 1848 revolutions, most Jews in Europe were emancipated.




a. They could leave the ghettos and become assimilated in 



     European life.  They could enter parliaments and universities, 



     such as, Benjamin Disraeli the P.M. of G.B.




b. In Vienna, 10% of the population was Jewish, yet, 39% of its 



     medical students and 23% of its law students were Jewish.


4. The Dreyfus Affair.



a. Alfred Dreyfus, a Jew, was a captain in the French general staff.




b. In 1895, a secret military court found him guilty of selling secret 


     army secrets and sent him to Devil’s Island.




c. During the trial, mobs yelled “Death to Jews.”




d. After the trial, it was proven that he was innocent and he was 



     pardoned in 1899 and fully exonerated in 1906.



5. Austria.



a. Christian-Socialist Pary.




b. Karl Luegar.



6. Germany.




a. Adolf Stocker’s Christian Social Workers.




b. Race theory in Germany.



7. Eastern Europe (72% of the world’s Jewish population).




a. Russia.




b. Mass emigration (1881-1899).



8. Zionism.




a. Roots.




b. Theodor Herzl (1860-1904). 


C. The Transformation of Liberalism—G.B.



1. Liberalism in G.B. changed during the late-19th century because of the 


     demands of the working-class, trade unions and the Labour Party.



2. Trade unions—




a. Became more radical by pushing for changes in the economic 



     system.  They called for, “collective ownership and control over 


     production, distribution and exchange.”




b. Fabian Socialists—intellectual group for laborers.  They sought 



     to gain seats in the House of Commons to pass working-class 



     legislation.  




c. They were not Marxists (did not advocate class struggle and 



     revolution) instead they pushed toward a socialist state using 



     democratic means.




d. In 1900, representatives of the trade unions and Fabian 




     Socialists coalesced to form the Labour Party.  In 1906, they got 


     29 M.P.s in the House of Commons.



3. The Liberal’s response—




a. They held the government from 1906-1914 and believed they 



     had to enact a reform program or risk permanently loosing the 



     working-class vote.




b. David Lloyd George (1863-1945) led the social welfare reforms.
· Abandoned the classical principles of laissez-faire.

· Passed the National Insurance Act of 1911—provided benefits for workers in case of sickness and unemployment, to be paid by compulsory contributions from workers, employers and the state.

· Passed a small pension program for retirees after the age of 70.

· Passed workers compensation for workers hurt on the job.

· To pay for these new programs, the government increased taxes on the wealth classes.




c. These were the first steps toward the modern welfare state.




d. Liberalism, which had been based on the idea that the 




     government that governs least govern best, had been 




     transformed.


D. The Transformation of Liberalism—Italy.



1. There was stability in Italy between 1903 and 1914 under the liberal 


     P.M. Giovanni Giolitti.



2. Giolitti used corrupt methods to form political coalitions.



3. Working class riots forced Giolitti to pass social welfare legislation.



4. He used nationalist rhetoric to strengthen his popularity and even 


     conquered Libya.


5. This was not enough.  Riots continued and in 1914, government troops 


     were used to crush a working-class protest.


E. The Transformation of Liberalism—Germany.


1. Emperor William II (1888-1918).


2. Continued the autocratic, conservative and military policies 



     implemented by Bismarck in 1871.



3. By 1914, German society was torn between the forces of modernism 


     and tradition.




a. Germany was the strongest military and industrial power on the 



     continent.




b. 50% of Germans worked in industry; 30% in agriculture.




c. Urban centers had exploded in number and size.



4. By 1912, the Social Democrats were the largest single party in the 


     Reichstag.



5. Political tensions existed between a number of different groups with 


     different agendas in Germany.




a. Social Democrats.




b. Middle and upper-classes.




c. Forces of democratization.




d. Conservatives—land owning nobility.




e. William II’s expansionist foreign policies.




f. Radical nationalist parties—Pan-German League.

F. The Roots of Industrialization and Revolution in Imperial Russia.



1. Sergei Witte (1849-1915).  Minister of Finance from 1892-1903.



a. Starting in the 1890s, Russia began a surge in state-sponsored 



     industrialization under Witte.




b. Witte saw industrial growth as crucial to Russia’s national 



     strength.  He believed that railroads were essential to economic 



     growth.




c. By 1900, 35,000 miles of r.r. were built including the 5,000 mile 


     trans-Siberian railway (from Moscow to Vladivostok.




d. Persuaded Czar Nicolas II (1894-1917) to implement a series of 



     protective tarrifs to help Russian industry and to encourage 



     foreign capital.




e. Under Witte’s leadership, Russia rapidly developed modern coal 


     and steel industries.



2. Industrialization radically changed Russia.




a. New elements were introduced into Russian society: factories, 



     industrial working-class, industrial suburbs and terrible living 



     and working conditions.




b. Socialist thought and parties emerged but repression forced then 



     underground where they became more radical and eventually 



     revolutionary.




c. The Marxist Social Democratic party—held its first congress in 



     Minsk in 1898, but the arrest of its leaders forced them to hold 



     the next meeting in Brussels in 1903.




d. The Social Revolutionaries—worked to overthrow the Czar and 



     establish peasant socialism.




e. Both groups, having no political outlets, advocated political 



     terrorism and attempted to assassinate government officials and 



     members of the ruling dynasty.




f. Growing opposition exploded into the Revolution of 1905.  


3. Alexander III’s  Policies Resulted in Formation of Three Groups.

a. Social Democrats.

· Were Marxist in views meaning that they saw the industrial worker as the revolutionary class and revolution as a world movement.

· Did not favor terrorism or assassination.

· One of leaders was Lenin:



He could not continue law after brother’s execution. 


Joined revolutionaries and lived off funds and 



donations. He was exiled to Siberia for 3 years and 



then the Western Europe in 1900. He remained in 



Western Europe until 1917.

· Split in 1903 into Bolsheviks and Mensheviks.
b. Socialist Revolutionaries were terrorists chiefly concerned for peasants and focused on Russia.

c. Kadets or Constitutional Democrats were moderates who supported reforms but not an overthrow of the system.

d. The government made no distinction between the three groups.
II. The Russo-Japanese War 1904-1905.

A. Causes.
1. Involved conflicting interests in China and Korea.
a. Russia forced China to allow the Trans-Siberian RR to be built across Manchuria and seized Port Arthur for a warm water seaport.
b. Japan occupied Korea in Sino-Japanese War.
2. The Boxer Rebellion.
B. The War.
1. Japan made a surprise attack on the Russian navy at Port Arthur in February, 1904.
2. Russia sent its fleet from the Baltic and it was destroyed.
3. Russia was forced to accept a humiliating defeat in September, 1905.
C. Treaty of Portsmouth.
1. Russia recognized Japanese control of Korea and ceded Port Arthur and southern half of Sakhalin Is.

2. Forced to evacuate Manchuria.
D. Significance of the War.
1. It signaled the rest of the world that Russia was a paper tiger.
2. Indicated Russia’s need to industrialize.
3. Caused Russia to turn attention to the Balkans.
4. Resulted in Revolution of 1905 which was a prelude to the big one.
III. The Revolution of 1905.
A. Causes.
1. Revolutionary groups hoped for Russian defeat in R-J War.
2. Military disasters in the war brought about the upheaval.
B. The Revolution.
1. It did not begin as a revolution to overthrow the government or the monarchy and its beginning pointed to the incompetence of the government.
a. A peaceful demonstration was organized by a priest who was actually a government agent.
b. The demonstration had the intent of petitioning the czar for an eight hour work day, the right to strike, and a national assembly.
c. As the demonstrators approached the Winter Palace troops opened fire and the result was Bloody Sunday Jan., 1905.
2. Results.
a. The workers no longer saw the czar as their friend and uprisings and military mutinies swept the country.
b. The czar intended to do nothing until a general strike occurred.
c. The October Manifesto.
C. October Manifesto.
1. Granted full civil liberties and promised a popularly elected Duma.
2. Satisfied the moderate demands but not the Social Democrats who led worker’s uprisings in Moscow and St. Petersburg which were suppressed.
IV. The Dumas 1906-1914.
A. Organization of the New Government.
1. The Duma was elected by universal male suffrage.
2. The czar had absolute power over legislation and Duma could not pass any legislation relating to foreign policy, the budget or government personnel.
B. The First Duma.
1. Constitutional Democrats won majority of seats with many SRs and SDs elected.
2. When czar refused to agree to give the peasants state and Church lands, the Duma was dissolved after two months.
C. The Second Duma Elected in 1907.
1. Peter Stolypin became Interior Minister.
a. Freed peasants from village communes believing the private property would gain support for government.
b. Was not supported by SRs or SDs because his reforms were capitalistic.
c. He was assassinated in 1911 in presence of czar and czarina.
2. Duma was dissolved when it refused to suspend parliamentary immunity in order to arrest SD representatives.
Concluding the Lesson:
1. There was a third and fourth Duma before the Revolution, but . . .

a. Election laws were altered increasing the representation of the middle class and landed nobility to ensure conservative control.
b. The government continued Russification and suppression.
c. The royal family came under the influence of Rasputin during this time.
